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Answers for 6.2
For use with pages 367-370

6.2 Skill Practice

1. scale drawing

2. M A28 = 240 times taller
I in. 1 ft
X 9 y4 18
3.5 4 5 T
xX+y
6. 7 7. true 8. false
9. true 10. true 11. 10.5
12. 34 13. about 100 yd

14. about 60 yd

15. 4 should have been added to the
numerator of the second fraction
instead of 3;
at+i3 c+4

3 -

16. 12 .

18. 19. 4
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20.
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‘=k5=k4=k
b b2 b
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2 2 2

21.a, + b, +cl=ka2+kb2+kcz,
a1+b]+cl=k(a2+b2+c2),
a]+b1+c|:k
az-+-b2+c2

Q|88

6.2 Problem Solving
22. a. 128 ft
b. 153.6 times

23. lin.:lmi 24. B

3
25. about 8 mi  26. about 4.5 mi

27. about 0.022 mm

28.1%& 29. 48 fi

30. a. about 557 people

b. 7;27.2% is greater than IO%.

c. Check students’ work. Sample
answer: A different group of
people were polled.

8 _ €@ Sl _
31.5 2 b bd—d bd, ad = cb,
ad.i_c .L,C_Z’:_’Z

ac’ ¢ a
8 . .C8 =
32'b d,b-bd 7 bd, ad = cb,
R 1a b
o= ch cdc  d
g . € 8 T 2
33.b—d,b+1 a’+1’
4.5 ¢ _dath c4d
Yt bl b e it b

21 wadew remeved 5 20259
ceso \ 1y, e 2.6 kg
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atb c—-d
e P Sl bau
(a-b)(c-f—d)

= @ + bie — d)

ac + ad — bc — bd
=ac —ad + bc — bd

2ad = 2bc
ad = bc
8 LE
b d
gatic s+
35b+d‘b—d
(a + c)(b — d)
=(a—c)(b+a’)

ab — ad + bc — cd
=ab + ad — bc — cd

—2ad = —2bc
ad = bc
L
b d

36.%:r,a=br,c=dr,e=fr;
a+c+e_br+dr+fr

b+d+f bl+d+f

_hrdngl
T Py TERE

37.

dehydvaded *eimlz e

. about2-1 kg
weley vemeved 3.2 k%

“

6.2 Mixed Review
38. Saturday: 270 mi, Sunday: 135 mi

39. LL=/LX, L M= Y,
LN=/LZ XY=IM,YZ=MN,
XZ=]IN Sample answer:
AYZX = AMNL

40. LD=LQ LE=/R
LF=/S /G=/T DE = OR
EF =RS, FG = ST, GD = 70.
Sample answer: EFGD = RST 0
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